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QUESTION 1

COL1 is defined as CHAR(05) and contains CHAR("12345\\"). Which of the following expressions returns the digits
12345 for further calculation?

A. HEX(COL1)

B. DEC(COL1)
C. PACK(COL1)
D. DIGITS(COL1)

Correct Answer: B

QUESTION 2

An external stored procedure is invoked using a CALL :hv (host variable). Which special register identifies the location
of the procedure?

A. CURRENT PATH

B. CURRENT SCHEMA

C. CURRENT PACKAGESET

D. CURRENT ROUTINE VERSION
Correct Answer: A

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/sqlref/src/tpc/ db2z_sql_call.html

QUESTION 3

Why would an SQL statement receive an SQLCODE of +100? (Choose two.)

A. The result of a SELECT INTO statement was an empty table

B. A rowset FETCH statement encountered one or more error conditions

C. The statement references an object that is not defined in the DB2 subsystem

D. An error occurred during the insertion of a row into an optional explanation table

E. A FETCH statement was executed when the cursor was positioned after the last row of the result table
Correct Answer: AB

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_10.0.0/codes/src/tpc/p100.html

Latest C2090-320 Dumps | C2090-320 Practice Test | C2090-320 Study Guide 2/4


https://www.passapply.com/c2090-320.html
https://www.passapply.com/c2090-320.html
https://www.passapply.com/c2090-320.html

VCE & PDF https://www.passapply.com/c2090-320.html
2024 Latest passapply C2090-320 PDF and VCE dumps Download
PassApply.com

QUESTION 4

Which of the following tables can be used to set the default of the special register CURRENT APPLICATION
COMPATIBILITY for remote users?

A. The resource limit facility table authid. DSNRLMTxx

B. The DB2 catalog table SYSIBM.SYSENVIRONMENT

C. The profile table SYSIBM.DSN_PROFILE_ATTRIBUTES

D. The communications database table SYSIBM.USERNAMES

Correct Answer: C

QUESTION 5

What is the result XQuery FLWOR expression when running the following scenario?

CREATE TABLE EMPLOYEE (EMPID INTEGER, INFO XML);

INSERT INTOC EMPLOYEE VALUES(1,
‘<employeeinfo>
<name> Joe Smith</name>
<department name="DBZ">
<team>Development</team>
</department>
</employeeinfo>’);

SELECT
AMLSERIALIZE(
XMLOUERY (
‘for $1 in $i/empoyeeinfo
return $i/name’
PASSING INFOC AS “i*)
A3 CLOB)
FROM EMPLOYEE:;

A. Joe Smith
B. Joe Smith
C. Joe Smith
D. Joe Smith DB2

Correct Answer: A
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